PR 4

=
EmEHRES =17 NS V2N EAEHE iH &
1 #L1E 130 9 53—87 Ry 200 t BE7E
2 L% 130 9 50—03 FoTt—i 690 t Bz
3 FL1E 100 [X 20—58 g7 580 t BE 75
4 #L#R 130 ¥ 50—05 g7 740 t BE 75
5 FLIE 130 53—10 goF 570 t BF
6 AL 1830 = 53—21 g7 840 t BE 75
7 #LiIE 130 = 53—24 g7 940 t BE7E
8 #LI#E 130 = 53—75 oS 840 t BE7E
9 #LIR830 & 53—62 ErrE 345 t BE7F
10 FL#E130 = 53—63 FrTA— 480 t B 7z
11 #L1® 130 & 53—06 FrTdA—n 1000 t B
12 fLi% 830% 53—07 ERE 510 t BI7E
13 FLiE 130 € 50-20 FvIdF—n 740 t Bz
14 #L1® 130 & 50-17 FrTF—n 650 t BE7E
15 AL 4309 53—38 BRESEEMaLTIERE 200 t BX7F
16 #L#Z 130 & 50—21 R 325 t #48
17 #L1% 830 & 53—66 B E 320 t Bi7F
18 #L1% 830 = 53—76 EESFE 570 t %75
19 fL#R 800 [ 10—35 ERE 470 t BE 77
20 #LiR 400 5. 34—56 R 040 t B
21 FLME 130 9 53—98 "y 320 t B%E7E
22 #L1% 800 X 55—15 ExE 560 t B 75
23 #L1® 130 9 53—13 REEEMILTFERAE 375 t BEF
24 FLiR 130 = 53—47 FvTA— 750 t BE77
25 ALIE 130 &53—40 PREEE GO TSERE 1130 t BEF
26 #L1® 130 9 53—86 g7 1110 ¢ BT
27 LR 400 b 71—72 FrTA— 150 t BE 7=
28 #L1% 400 (X 14—36 Ry 040 t BE7E
29 FLIR 400 14—37 "o 040 t EE7E
30 #LiR 130 £ 53—56 FoTF—n 345 t BE7E
a &t =)
X HOURFFEZEEROESE HERICEE T BLEOMERBALTE,

-4.10,24



Rk 4

RE&E- Ef Em— &

EWmERES B &R RKXEHE " &
31 #L1® 130 & 53—55 "o 200 t BT
32 #L1% 830 & 53—60 EESrE 570 t BE7E
33 #LiE 130 £ 53—61 FrIA— 315 t Bz
34 #L1® 830 £ 53—59 EESFE 6.00 t BE7E
35 #LiE 130 £ 53—64 g7 910 t BT
36 fLi% 830 £ 53—68 EfFE 470 t BE7E
37 #L#® 400 U 58—60 s 090 t Bz
38 #L#% 130 & 53—71 ZoF 860 t B
39 #L18 400 I 56—28 "o 040 t BE7E
40 #L1g 130 € 53—90 BEEEMI T ERE 390 t B
4 #Lig 830 &£ 53—77 EEsrE 580 t BE7E
42 #L#E 130 9 50—15 BiEEBEML T ERE 620 t 575
LTF&RH
= it 42 &

X HAHFREEEEREOBAE, HERICEE R, BLOMETALTISEN,



